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MULTIPLE CHOICE QUESTIONS

SUBJECT : MATHEMATICS
FULL MARKS : 80

{Each question carries one mark)
(English Version)

The general solution of the differential equation % =e* &' is

A e¥=¢"-e"+c B.eY=¢e*-¢€"+¢
Cev=e+e™+c D.e'=e"+e™*+¢
where c is an arbitrary constant
Product of any r consecutive natural numbers is always divisible by
A r! B. (r+4)! C.(c+1) D. (r+2)!
The integrating factor of the differential equation x log x%— +y=2logx is given by
A e B. log x C. log (log x) D. x
If x2+y?=1then
A vy —-@y)Y +1=0 B. yy +(y)2 +1=0 C. 2w -()~-1=0  D.yy' +2(y)’+1=0
¢ - S— , ¢, denote the co-efficients in the expansion of (1+x)" then the value of ¢, +2¢c,+3c *......tnC I8
A n2*! B.m+H2» ! C. (n+1)2° D. (n+2)2""!
A polygon has 44 diagonals. The number of its sides is
A. 10 T -B. 11 C. 12 D. 13
1 1 2
f . 2 _ - +bh= - -

If o,p bethe roots of x> —a (x — 1) +b =0, then the value of 2 _m+ 52 —aﬂ+ T

. B, bt C.0 D.-1

a+b a+b

The angle between the lines joining the foci of an ellipse to one particular extrernity of the minor axis is 90°. The
eccentricity of the ellipse is

1 1 2 1
A = B. — C. - D. ,—
8 3 3 2
2
The order of the differential equation (Eix%ﬂ ‘l+ 93)2 i
A.3 B. 2 C.1 D. 4

The sum of all real roots of the equation [x-2{” +|x~2|-2=0'is
A7 B. 4 C.1 D.5



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

475869

4 4 2
It [fx)dx=4 and [{3-fx)}dx =7 then the value of [ fix)ax s
-1 2 =1

A -2 B.3 C 4 D.5
For each ne N, 2°" - | is divisible by

A7 B.8 cé D. 16
where N is a set of natural numbers. )

The Rolle’s theorem is applicable in the interval —1<x <1 for the function

A fix)=x B. f(x)=x? C. fx)=2x3+3 D. f(x) = [x|
The distance covered by a particle in t seconds is given by x = 3 + 8t — 4%, After 1 second its velocity will be
A. O unit/second B. 3 units/second C. 4 units/second D. 7 units/second
Tf the co-efficients of x* and x in the expansion of (3 + ax)® be same, then the value of '’ is
Al B. 2 c I p. 2

7 3 9 7
The value of l + ! is

logs12  log,12

A0 B. _l} C.1 D.2

If x =log,bc, y=log ca, z=log _ab, then the value of L + ! + ! will be
I+x l+y 1l+z

A x+y+tz B. 1 C.ab+bc+ca D. abc
Using binomial theorem, the value of (0.999)* correct to 3 decimal places is
A. 0.999 B. 0.998 C. 0.997 D. 0.995
If the rate of increase of the radius of a circle is Scm./sec., then the rate of increase of its area, when the radius is
20cm, will be
A 10x B. 20x . C.200x D. 400x
The quadratic equation whose roots are three times the roots of Jax?+3bx+c=0is
A.ax®+3bx+3c =0 B. ax’+3bx+c=0 C.9ax*+9%bx+c=0 D.ax*+bx+3c=0
Angle between y* = x-and x* = y at the origin is
i -1/, n n
A. 2tan”(3) B. tan'(2) c.2 D. 2
In triangle ABC, a=2, b=3 and siri A = %,thenBisequalto
A. 30° B. 60° C. 9%° D. 120°
000

I YO0 g1 4 equal to
0

1000 000 _

e =l . B c. ==L D. 1000 (e—1)
e—1 1000 1000
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The coefficient of x", where n is any positive integer, in the expansion of (1+2x + LRI oo)% is
n+l

Al B.T C.2n+1 D.n+1

The circles x2 + y* — 10x + 16 = 0 and x*> + y? = a? intersect at two distinct points if

A a<2 B.2<a<38 C.a>8 D.a=2
. -1

Ism X dx is equal to

Vi-x2

A. log (sin7'x) +¢ B. %(sin'lx)2 +c C. log(wll—x2 )+c D. sin (cos™' x) +¢

where ¢ is an arbitrary constant

The number of points on the line x + y = 4 which are unit distance apart from the line 2x + 2y =5 is

A Q B. 1 C.2 D. infinity
Simplest form of 2 is
—_———————
J2+ V2++/2+2cosdx
A. sec % B. secx C. cosec x D. 1
Ify=tan™ Jl—sinx then the value of gy at x —V is
1+sinx dx 6
A -1 B L C.1 D.-1
2 2
If three positive real numbers a, b, c are in A.P. and abe = 4 then the minimum possible value of b is
% % A %
A 2 B. 2 C. 2 D. 2

If 5cos20+2cos’ 8 +1=0, when (0<8 <), then the values of Bare:

A, g—in B. %, cos"(%) C. cos"(%)in: D. %, n—cos_l(%)
For any complex number z, the minimum value of | z| +|z—1]is

A0 B. 1 C.2 D. -1

For the two circles x2 + y2 = 16 and x* + y? — 2y = 0 there is /are

A. one pair of common tangents B. only one common tanget

C. three common tangents D. no common tangent

1f C is a point on the line segment joining A (-3,4) and B (2, 1) such that AC = 2BC, then the coordinate of C is

A. (l, 2) B. (2, l] C.(2,7 D. (7,2)
3 3

If a, b, c are real, then both the roots of the equation (x —b) (x —¢) +(x - c)(x —a) + (x —a) (x—b) =0are always

A. positive B. negative C. real D. imaginary
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13 135

The sam of the infinite series l+—+— Fi—e— e, 18
21 41 !
A.e B. ¢ C. e D. }/

The point (- 4, 5) is the vertex of a square and one of its diagonals i 1s 7x —y + 8 = 0. The equation of the other
diagonal is

A Tx-y+23=0 B. 7y +x=30 C.7y+x=31 D.x-Ty=30

The domain of definition of the function f (x)= J 1+log (1-x) is

A, —ee< x50 B. —m<x$?—_1 C. —w<x<l] D. xz2i-e
e
am+1+ m+1
For what value of m, _b"r is the arithmetic mean of 'a’ and "o'?
a” +
Al B.0 C.2 D. None
1 ,R-l —
The value of the limit 1im M is
x—1 log x
A0 y _ B.e C. ! D.1
€
_ Vx+3
x+1
A0 B. does not exist G. -;- D. ~%
f(x) =x+]| x| is continuous for
A. X € (—o0,) B. x€ (—o0,00)— {0} C.onlyx>0 D. no value of x
2 1 37, x 1 a .
tan | —+—cos™ { ¥ + tan | —— =< | 18 equal to
R R )
2a 2b
it = a b
AT B. ~ c. 3/ D. b/
If i=v~1 and nis a positive integer, then i® +i"*" +i™?2 4+{"™ j5 equal to
Al B.i . cC. i" D.O
J- dx
equals
x(x+1]
A In Ll + g B. - X i+ C, In’i - D. k ~x—:—1 +c
X | x+1 X x+1
where ¢ is an arbitrary constant,

Ifa,b, carein G.P. (a>1,b>1, c > 1), then for any real number x (with x > 0,x #1), log 2% log, x, log x arein
A. GP. B. AP, C. HP. D. G.P. but not in H.P.
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A line through the point A (2, 0) which makes an angle of 30° with the positive direction of x-axis is rotated about
A in clockwise direction through an angle 15°. Then the equation of the straight line in the new position is

A (2-43 )x+y-4+243=0 B. (2-43 Jx—y-4+2{3=0
C. (2-43 )x-y+44243=0 D. (2-43 Jx+y+4+243=0
The equation\/-?; sin x +cos X =4 has

A. only one solution B. two solutions C. infinitely many solutions D. no solution

The slope at any point of a curve y = f (x) is given by %x! =3x? and it passes through (-1, 1). The equation of the

curve is
A.y=x*+2 B.y=-x%-2 C.y=3x3+4 D.y=-x>+2
The modulus of ~1;l+ﬂ 15
3+1 5

A. /5 unit B. —J—;—iunit C. —‘/55 unit D. —‘/;_3 unit
The equation of the tangent to the conic x? ~y* —8x +2y + 11 =0at (2, 1) is
Ax+2=0 B.2x+1=0 C.x+ty+1=0 D.x-2=0
A and B are two independent events such that P(AU B')=0.8, and P(A) = 0.3. Then P(B) is

2
A — B. 2, C. 2 D. 11

7 3 8 8

The total number of tangents through the point (3,5) that can be drawn to the ellipses 3x’+5y’=32 and
25x%+9y*=450 is

A. 0 B.2 C.3 D. 4
X n n n
The value of lim + +oereren + is
n—w[n2+12 n?+2% n2+n2]
A. % B. log2 C.0 D. 1

A particle is moving in a straight line. At time 1, the distance between the particle from its starting point is given by
x =t — 6t2 + 3. Its acceleration will be zero at

A. t=1 unit time B. t = 2 unit ime C. t =3 unit time D. t =4 unit time

Three numbers are chosen at random from 1 to 20. The probability that they are consecutive 1S

A Bl c. 2 D. 2
190 120 190 190

The co-ordinates of the foot of the perpendicular from (0, 0) upen the linex +y=2are

A (2,-1) B.(-2,1) C.(L,1D D.(1,2)

If A is a square matrix then,

A. A+ AT is symmetric B. AAT is skew - symmetric

C. AT+ A is skew-symmetric D. ATA is skew symmetric
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The equation of the chord of the circle x? + y* — 4x = 0 whose mid.point is (1, 0) is

A y=2 B. y=1 C x=2. D, x=1
If A2- A + 1 =0, then the inverse of the matrix A is
A A-1 B.I-A C. A+l D. A
IfCisthereﬂectionofA(Z,4)inx-a:dsandBisﬂ:ercﬂecﬁonofCiny-ax;is,thmlABlisr
A0 B. 24/5 C. 45 D. 4
The value of cos15° cos 74" sin 73" is
Al B. 1 c.l D. L
2 8 4 16

' x+2]
The value of integral | dx is

S x+2
Al B.2 C.0 D. -1

3 2

The line y = 212 intersects ihe ellipse x,_9._+%____

A. |tl B. |tk]

General solution of sin x + cos x = ml;g -{l,a2 ~-4a+6
e

nm

1 in real points if

C. [tp1 D. [tf21

}is

A ?+(-1)"§ B. 2ux+(-1)"% C. m:+(—1,)"+‘g- D. nx+(-1)" 1%
If A and B are square matrices of the same order and AB = 31, then'A™" is equal to

A. 3B B. %B C. 3B D. %B"

The co-ordinates of the focus of the parabola described parametrically by x =522 +2, y=10t+ 4 are
A (1,4 B. (3,4 C.(3, D. (~7,4)
For any two sets A and B, A — (A — B) equals

A B ‘ B.A-B

Ifa=2y2,b=6,A= 45°, then

A. no triangle is possible
C. two triangles are possible

A Mapping from IN to IN is defined as follows : -

f:N-> N

fin)=(@+5?% nelN

{IN is the set of natural numbers). Then
A. fis not one-to-one

C. fis both one-to-oné and qua

C. AnB . D. A°nB°

B. one triangle is possible
D. eitherno triangle or two triangles are possible

B. fis onto
D. fis one-to-one but not onto |
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In a triangle ABC if sin A sin B= —b thenthetnanglem

A. equilateral B. isosceles C. right angled D. obtuse angled
[~
sin x + ‘3cosx N
A lin[ten{t-2)+c B im|wn(z-2)|+c C im|wnfz+3)+c D im|an(t+5)+e
where c is an arbitrary constant.
The value of (1+cos®; )(1+cos®4 ) (1+cos® )(1+00s™ ) is
3 -3 3 1
A — .= .= D. —
16 B 8 ¢ 4 2
IfP = 1sin®0+ 1cos’0 then
A lspgl B. P21 C. 2<Ps<3 D, =¥BxpgdD

A positive acute angle is divided into two parts whose tangents are % and % . Then the angle is
A T B. % C. % D. 7

If f{x) = fla — x) then fxﬂ(x)dx is equal to
0

a a a
A, J'f(x)dx B. a—j f(x) dx C. ij'ttx)dx D. -—jf(x)dx
2 5 2 o
The value of I —d’L—
&2 +4¥x2 +9)
A X B. — c = D. =
60 20 40 20
% 4 .
IfI,= I sin®x dx and L= I cos? x dx , then,
0 0
AT =1, B. I <L C. I >, D.L=I+%
The second order derivative of a sin’t with respect to a cos®t att-% is
A 2 B, C. “2 D, &
12a 3a 4.2
The smallest value of 5 cos 8+12 is
A S B. 12 C.7 D. 17

[ Turn Over for Bengali Version |



10.

1.

12.

475869

(Bengali Version)

%=eyﬂ+e"" R STRIFALSIS I FARIA

A e¥=&-e+c B.e¥=e*-¢"+c
C. e¥=e*+e*+c D.e¥=¢"+e*+¢c
CHANA ¢ 93 (IR

I IRYF SR S YR Gower @ i o 7 Roweg @ &

Ar! B. (r+4)! C. (+1)
xlogxg—i+y=210gx SRFE NAFACNR ST -QI T

A et B. log x C. log (log x)

M x2+y'=1WOR

A. vy -(2y) +1=0 ‘B. yy'+(y)? +1=0 C. yy'—(¥)*-1=0

W (Hx)=cgte, x #e X+, +¢, X" TS ¢, +2¢,+3¢, +......+nC, = FE?
A.n2n- - B.{m+1)2m-! C. (a+ 132
Rl TeZLeR 44 6 3w ) @ Jegrem TR =
A. 10 . B. 11 C. 12
L2

= + @

a(x—1)+b=0" R AsaH o B!@tﬂﬂ_w e —

4 |

‘avb ot o

D. (r+2)!
D.x

D. yy'+2(y)2 +1=0
D. (n+2)20-1

D. 13

D.-1

b Borgran Toiten ol mmmmﬁmw 90° RIT % | T#TET BqAS! T

A. B. C
g 7? Va
2
gx 1+(:1’J’:)2 vt Ao
A3 ‘B. 2 C.1
|;x—2|2 +|x — 2| - 2 =0 #Wea 7 TereRm e
A7 B. 4 C1

4 4 2 '
= jf(x)dx=4 a® [{3-f0}dx=7 7, o= _[ttx)dxemmm
=1 2 -1

A.-2 " B.3 C. 4
s ne N «qumy, 20 — | Reweg @2

A T B. 8 gt C. 6
@A N &b 2reifee Y@ G5

10
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D. 4

D.5

D.5

D. 16w
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—12 x <1 ST (T SMHF9 (F0a Rolle 9 Toisiivg Seaomam ot 25

A fix)=x B. flx)=x? C. fix)=2x*+3 D. f(x) = |x|
t CTCPe ITH T2 SR STy R x = 3 + 8t — 412 o 1 (e A @1 2w
A. ) T3/ G B. 3 955/ O3S C. 4 59/ D. 7 &=/ Cin
(3 + ax)" Rgfen * @R X’ @a B T o a g NI
3 7
e B. % c: D, -3-
[ L )-xﬂamms 3
logs12  log,12
A0 B. % C.1 D.2
T x =log,bc, y=log ca, z=log ab, &= .1 .1 E AT
I+x l+y l+z
Ax+ty+tz B. 1 : C.ab+bc+ca D. abc
fastvr (aiRgmifiaen) Setetionr SHICy (0.999)° @3 w1 3 Wi W s 7
A. 0.999 B. 0.998 C. 0.997 D. 0.995
(ROVCAT U A 3 CILFTe IR Som. 3% 1, Sigeer B2 i 24 20cm. & B2 crares @ 2 I AR o e
A 10z B. 20x C. 200z D. 400x
3 fawre wieeeR el 3ax® + 3bx + ¢ = O Ferer Trom o7 o, GG ==
A ax’+3bx+3c=0  B.ax’+3bx+c=0 C.9ax’+9bx+c=0 D.ax*+bx+3c=0
RSy = x @ X’ = y qawgad} e a1
A. 2tan”'(2) B. tan'(4) c. 2 D. %
ﬂﬁm%ABCﬁgma=z,b=3m§inA=§ﬂmBnﬂ
A. 30° B. 60° C. 90° D. 120°
Ilme""["] GE WA TI
0
e -1 g el c. 221 D. 1000 (e~ 1) _

e-1 1000 1000 .
1 TR GO S (Y, O (14 2x + 357 +......00) it s x° o7 20
Al B.-“—éfl C.2n+1 | D.n+1
+ Y -10x+ 16 = 0 @ x*+ y* = a* I5an b o Reoqrss (g Fea 3
A.a<2 B.2<a<8 C.a>8 D.a=2

11
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j'j‘ii‘_dx TRAGE N
1-x

A. log (sinx) + ¢ B. %(sin'lx); +¢ C.:Llo'g,( JI-T )-H: D. sin (cos™ x) +¢
2x + 2y = § PN (T € FCY (R x + y = 4 TR B AR O T 2

AD B. 1 C. 2 D. =

J 24242+ 2c0six

A. sec —:- B. secx C. cosec x D. 1

y=tan~ (1= “SIOE x=’y~ﬂ——ésrm

1+sinx
Acea B. 1 C.1 D. -1
2 2
ot ot 4R ST AU a, b, ¢ SR LTS AUF ¢ abe = 4 T RI b GHHSRY FOAH AT LI &
A. 2% B. 2% C. 2"4 : “ D 2%

i Scos20+Zcos’ ¥, +1=0 T @M (0<0< ), TRO FAFLHL
A Ju B. 3.cos”' (%) C. cos”' ()£ x . £ n—cos”!(%)
2 @ R EDA TG |z | + |z~ || < oS W BT
A0 B. 1 C.2 D. -1
x2 +y = 16 @R x2+ y* - 2y = 0 JE0EH
A. GRS ARES ey
C. 1D iz =i wIR
A(-3,4) R B (2, 1) g R8s C, AB @ Srin e wrolb 39| ot AC = 2BC C R gIe L9 e

| (1)
A. [-iﬂ B. [_Z‘EJ C (2.7 D. (7,2)
M a, b, ¢ IV T, B (x — b) (x — ) + (x— Hx — 2) + (x — a) (x — b) = 0 AMeaCrTTE Jer 7t
A. WITT B. 4R C. IR D. ®F
1 13,135 e
1+ ; EJ-W'i' ... ST A2 CRRPeT et &
Ae ' B. & C. Ve : Dx:-%

(~ 4, 5) @B Tt 9=l R R (vertex) &R S0 el s Al 7x - y + 8 = 0. Srwer ome
A Tx-y+23=0 B. Ty +x=30 C. Ty+x=31 D.x-Ty=30"

12
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f(x)=y1+log (1-x) Sr=raalba Ry ova (domain) 7=

A —<x%0 B. —nq<x$e——l C. —»o<xsl1 D, x2l-¢
e
am+1+bm+l
m <R @R ey —— ——— 2@ a8 b @@ aeiy W I
a™ +p"™
Al B 0 C.2 D. None
: x=1_
lim S0 U Grame
x—i log x :
A0 B. ¢ C. -1- D. 1
[+
R f(x)= yx+3 e Lt fix) @A
x+1 x——3-0
A.0 B. Sf¥e2= C. % D. —%
£ (x) = x +| x | Sl (7 7Y x @7 G HTG: ST 2
A. X € (—oo,00) B. x €& (—e0,05) - {0} C. oqmg x>0 D. (¥ x~% &) 71
n 1 -1 x 1 g/ a

tan | —+— ‘ + tan | ——— —| | @ Aw B

[4 2% (%)] [4 2% [b” e

2a 2b

= =t a b
A= B. = C. 4 D. A
W i=v—1 R n @® @ RO, R, i+ i 4 @A
Al B.i C. i* D.O

dx

@A
-[x(x+1)
A. In S +c B. In L +c C. il +c D. ]nlx—-l +¢
X x+1 X x+1

A ¢ G5 CHRIEETT |

MWabc@>,>d >, c>1) orme aafe (GP.) WMT, OF @ @F AT I x-F (x >0, x=1) &
log, x, logyx, log x <1z 3

A. oTNeT a4fers (G.P.) B. ez 2sifére (ALP.)
C. Refre af¥rs (H.P.) D. sreitan iR g Redve afdte 7z

A (2, 0) R qolb serast x-s0es R firee 712w, 30° (it 78 9w 320E A R ACTE 15° (e w’a diow free

A. (243 Jx+y-4+23=0 B. (243 Jx—y-4+2¥3=0
C. (2-43 Jx—y+4+243=0 D. (2-43 Jx+y+4+2J3=0

13
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f3 sin x + cos x = 4 ¥ Reifa
A. SFg G0 AW AFE B, 726 FAOUE AR C. S5 AYGe AN I D, (P T SR

y = f{x) I3 i R e =opfaa ool = %=3xzm&z@(—1, 1) Regand TEm il =

A y=x+2 B.y=-x*-2 C.y=3x*+4 D.y=-x'+2
;+% et B e (modulus) TR 3
+1
V12
ASsas - B.gm C.-‘éi—m D.i;aw
K~ y?—8x + 2y + 11 = 0 3w (2, 1) Refrs ~nfirariicast =1
A x+2=0 B.2x+1=0 C.x+y+1=0 D.x-2=0
A6 Bl 4w <541, v P(AUB')=0.8 @R P(A) = 0.3, w1t P(B) 71
2 2 3 1
A = B = C. = D. -
7 3 8 8
(3, 5) Reg it 3x%+5y7=32 &R 252 + 9y2 = 450 BATERTIH (W16 "l FRog) =1
A0 B.2 C.3 D. 4
a n n n
lim ... +— LERICE
n%[nzﬂz n? +22 n2+n2]
A. % B. log 2 C.0 D. 1
a3fl o AT AN | ¢ T, A o UG x =t~ 682 + | B2 TR o R
A t=] SITHIT B. t=2 @33 39w C. t=3 go3 5y D. t=4 <5 3R

] mzoawmwwmﬁﬂwwwmmﬁwmmmtﬁ

A ﬁ B i:;_o c. 1—;5 D. 1_;_0
(o, O)ﬁqu+y=2ﬂaﬂm%ﬂﬁﬁwmwmmm

A (2,-1) B. (-2, 1) C.(L1) D. (1,2)
A b Tfaw e,

A. A+ AT 2 (symmetric) B. AATReiféom (skew-symmetric)
C. AT+ A fRufnm D. ATARefem

X2 +y—dx = 0 ez s TR 3 (1, 0) =0 o3 s wlieel o

A y=2 B.y=1 C.x=2 D.x=1
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60.

61.

62.

63.

64.

65.

66.

67.
68.

69.

70.

475869
A2 - A +1 =0, o@ A TEH 92 R3S (inverse) =1
A A-1 B. I-A C. A+1 D. A

it A(2, 4) Refbe x SO Beie efilere Ry C oz B R y wiwes Soim e R C 2, o3 [AB| @@ T T

A. 20 B. 245 C. 45 D.4

cosl5°cos 7-;“,—" sin 7—%—" B Ch

1 1 | 1
A — B. - C. - D. —
2 8 T4 16
1
Imdx T
5 X+2
Al B.2 C.0 D. -1
xt ¥ ,
y =2t i 5 vt B T3 TS 021 AT T
A [t B. |t)] C. [th1 D. [t]21
sin X+ cos x = mg{l,az—'4a+6}ﬁw'tﬁﬁwwwl
as
A %+(—1)“% B. 2nm+(-1)"2 C. on+(-1)™£ D. nm+(-1)" 2%

I A @ B 1% <3 31317 (order) 35 N (square matrix) T3 @I AB = 31, SR A~ 3R TI
1 1

A. 3B B. B C. 3B D. EB"
x=5t1+2, y =10t + 4 XSRS (GO t G 205%) 7S Roga g 23 8

A (7.4 B. 3,4) C.(3,-4) D.(-7,4

@ D o6 A R B3 (MT A — (A-B) ==

A B B. A-B C. AnB D. A°nB°

a=24/2,b=6,A= 45, T=

A. 37 g e W B. 3 fags 7ea

C. 1t Rrgw w81 D. = e firge w314 frew o

7t et IN (e IN G it reeaiiie

f:IN—> N ‘

fn)=(n+5 Y, ne IN

( INHS Tl TRYW G6) S

A f a3 78 B. f Efafoas C. f &-av @ Tfbad D. f so-o= RgTotgaam
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72.

73.

74.

75.

76.

77.

78.

79.

80.

475869

. . o _ ab
ABC f&gt sin A sin B = ?wf@?ﬁﬁ

A. TR B. Tafedm C. FuCEy D. e
I__._dx__ 'lﬂamﬁ

sinx ++/3 cosx
A tijtm(3-5)+c B Llhfmm@E-2)+c C im|wnfz+2)+c D. Lin|tan (5 +2)|+c
A ¢ 3G CTERRT |
(1+cos® )(1+cos )(1+cos2 )(1+cos™ ) emamzm

3 3 3 1

s . = C. - . D. -

16 B3 4 2
P= é—sin29 +-_l;c0526 i)
A }sPsi B. P21 C. 2<P<3 D. -8 <pcili

b ERIT PRSI TOIT P 61 29 O (witaform HIRrers (tangent) -21— e % | 3l =
A B. % c. %4 D,

2 f(x) = f{a — x) WX jxf(x)dxaamm
0

1 2 a a 2
A [ fxds B. - [ fx)dx cl [ o ex D. -EI () dx
2 "2 2
0 0 0 0
I, dx -
—————— @™
0 (X~ +=4)x"+9
n T T T
A — B. — C. — D. —
60 20 40 80
% A
1= I sinzxdx@'«lf I cos? x dx =
AL =1, B.1 <, C.1,>L, D.L=I+%
t=% (S acos’t &3 AT a sin’t 97 8 T Sw ot =27
A 2 B L o M2 i 22
12a 3a M2
5 cos 6 +12 BT THET N II= 3
A5 B. 12 C.7 D. 17
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